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B. Com. (Part II) EXAMINATION, 2018

(Group—III : Applied Economics)
Paper First
BUSINESS STATISTICS

Time : Three Hours ] [ Maximum Marks : 75
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Attempt all the five questions. One question from each

Unit 1s compulsory. All questions carry equal marks.
THE—1
(UNIT—1)

1. el & yifie Wi wd fede 9@ A sRR @i
fode el @ Toom @ THY AN BE-BH W A
@ ?

Distinguish between primary source and secondary .source of

statistical data. What precautions would you take before

collecting data from secondary source ?
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Calculate mean, median and mode from the following data :

Marks ( less than)-
0
20
30
40
50
60
70
80

No. of Students

15
35
60
84
96
127
198
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0—10 4
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Calculate quartile deviation and its coefficient from the

following data :

Class

D—-—E_U_ _
10—20
2{)—"30
30-—40

40---50

Frequency
_T_,... U
15
28

16
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it ¥ % o R el ““”ﬂ?’gw
HET e an
0 27 17
1 9 9
2 8 6
3 5 5
4 4 3

Following table gives goal scored by two teams A and B ina
football season. Find the team which is more consistent in its

performance :
. Number of Football
No. of Goals Scored in a Matches Played
Match
Team A Team B
o 27 17
1 9 9
2 8 6
3 5 5
3
. 4 4 i
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(UNIT—3)
@ 49 Teua 2 a1
Rrat &% (it —— it 2
n fae) W
A 120 24000 288
B 150 75000 1125
C 80 48000 768
D 50 40000 720
B . 250 50000 650 |

From the following data, find out if there is any relationship
between density of population and death rate :

|
District ( Sql;d:z-zjkm} Population IT::;::;
A 120 24000 288
B 150 75000 1125
C 80 48000 768
D 50 40000 720
E 250 50000 650
S
(Or)
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With the help of the regression equation obtained from the
following data :

(i)  Find the expected age of husband when wife’s age is
12 years.

(i) The expected age of wife when husband's'gge is 33

years : - .

| | Mean | Standard Deviation
Husband’s Age 25 ycg:-'; | _—4};:; B
Wife’s Age 22 years 5 years !

The correlation coefficient between ages of husbands and

wives = 0.8.

R4

(UNIT—4)
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What is Time Series ? Distinguish between secular trend,

seasonal variations and cyclical fluctuations. How would you

measure secular trend in any given data ?
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Construct index numbers of the threce years with the average
price as base and taking average of price relations from the
data given below :

B T Cam_r;mdily (Rate ¥ per unit)

Year L— e ————— : J

Wheat Cotton Qil

o T 25 30

Il 99 20 25

11 106 15 20

ECIERE
(UNIT—5)

oRys Qi e @R A o & 5 o 3
R AT aon AEEs Q@A S K A
“Business forecasting is the eyes of modemn business.”
Comment upon this statement and point the limitations of
business forecasting.
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There are six seats in a Tonga. In how many ways can
six people sit init ?
faf= ot @1 5 aedl A fean fift= wea & o
[P 8 ? o
How many different signals can be made by hoisting
5 flags of different colours ?
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